FLEOSTHNLGY

"PROMOTOBIULET

Instructions: PMB-01-6500

Parts List:

2-Side arms

1- Rack top

2-Mounts

2-M6x20  (iem—
2-M6x25 m 2-Thin Spacer @‘h

2-M8x25m 2-Thick Spacer 0\

CAUTION: As with all racks on dirt bikes, they should not have excess amounts of weight
put on them. Excess weight can damage the rear sub-frame of the motorcycle.

Important: If you are not using the stock taillight holder, You will use the thin spacer on step 3,
and the thick spacer will be used on step 4. The spacers are placed between the mount and plastic.

We recommend using a removable thread-locking agent on all bolts.

1. Remove all 6 bolts from under the 2. Using one M8x25 bolt install
rear fender. Labled A,B and C the mount bracket as shown.

See our entire product line at promotobillet.com

Questions? 866-466-4762 | sales@promotobillet.com




FLEOSTHNLGY

"PROMOTOBIULET

3. Install one of the M6x20 into 4. Install one of the M6x25 into
the end of the mount. the middle hole of mount.

5. Using two M8x16 button head bolt 6. Repeat steps 2 through 5 for opposite side.
attach cargo rack arm to the mount. Note: Do not fully tighten arm bolts untill cargo
rack top on.

7. Place rack top so arms are on the inside of
rack top. Using 4 M6x12 bolts to attach S
the rack top to the arms. 9. Tighten all the mounting bolts.

See our entire product line at promotobillet.com

Questions? 866-466-4762 | sales@promotobillet.com




